HA-2 7 SECTION-A

& TR gt e i e = 2

Why should we wear cotton clothes during summer ?

<1 hiferRT SRl % A fefed el e stafos e dan

Name two cell organelles which have their own D.N.A and ribosomes.

Ham =1 gftwifig e @ik zow o o fofad |

Define momentum and state its SI unit.

= A 9 F1 sy @9 o 3= s st 2

(@)

373 K ™ 919 (b) IBKR VA

Which of the following two will give you more severe burns and why ?

(@)

(a)
(b)

Steam at 373 K (b)  water at 373K

Hifeam FeiNEs Fi 293 K W faciasa 36 g #1 39 o7 %1 791 e § 2
310 K W 100 g 91 | faeifa difzan seimss =1 9@

(i) 36 g & ATF SAera (if) 36 g F ®H I FROT whea s Do)

What does it mean when we say that the solubility of sodium chloride is
6gat293K?

The quantity of sodium chioride dissolved in 100 g of water at 310 K will
bE' .

more than 36 g. (if)  lessthan36 g7
Give reason for your answer.

it oy S ) @) erafufit ffag -

(1)
(2

e Yiew! uiutafeay a9
SR Taisfaas saw

Write two locations of the following animal tissues :

(1)
(2)

Simple Squamous Epithelial cells.
Cuboidal Epithelium.

ToErE fi6 21 92l & g ovr e avedw 59 o v wurfad o 5 -

(1)
(ii)

% fie =1 7emm < = fom sy
el & gea gl T 3 =1 & =

Explain what happens to the force between two objects if :

(i)
(1)

the mass of one object is doubled ?
the distance between the object is tripled.

FEE! % uftvEEs we A giads w0 % db o fafeg

State the advantages of changing the maturity duration of the crop.

"HHE IS HI U W wEE e a2 ) 59 %99 1 yf 19 3wl g 3
Ty |

“Quality consideration of crop products vary from crop to crop”, Justify giving
three examples.

2
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10.

i3 A

12,

13.

14.

wﬁﬁﬁqwﬁﬁmwﬁaﬁqmmﬁamﬁmuﬁmmﬁﬁﬁw
wiwar =1 9 fafad )

Draw a flow diagram to show inter conversion of the three states of matter
indicating the name of each process of each stage.

Fre=fafem & smw & ;
i (a) woE w1 37 ST e w1 i § i e a5t 5 e
(b) ST TH R FW H W R G F w9y faemd W vew g% =
T & O I w9 &
(i) ﬁﬂaﬁﬂmwwaﬂmaﬁaﬁﬂ%?aﬁiamﬁm|

Give reasons :
i) (a) Survival of fish and other aquatic animals become difficult
during summers ?
{(b) When a beam of light is thrown on a clear sclution of copper
sulphate kept in a dark room, it does not glow.
(if)  Give two reasons why crystallisation is better than example evaporation.

ﬁﬂmﬁﬁﬂmﬁﬁiwwwﬁﬁmﬁml

Draw a neat diagram of an animal cell and label any four parts of it.

(1) 38 99 % 1 M fofe s wee § @ ¥ dawd @ wehug 3158 o
s ¥ wed §7

(2) ol & faf 2E ) fafan

(1)  Name the plant tissue which is associated with the conduction of water in
the plant. Why is this tissue called complex tissue ?

(2)  Write the various components of this tissue.

e Wit 2l faet Ot & i ar ffd

List three differences between striated muscles and smooth muscles.

ﬁmwm-mmﬁmw#ﬂfﬁmmﬁl BRI E
() FERISRD (i) 20sFARIT (i) 15sF m@F T
Y IR FH9T Gige D

20 I —

5 10 15 20 25
t(s)
The velocity - time graph shows the motion of a cyclist. Find
(i)  its acceleration
{ii)  its velocity after 20 s and
(iif) the distance covered by the cyclist in 15 seconds.
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16.

17.

18.

19,

20.

5 10 15 20 25
t(s)

Give reason for your answers.

frafafas & o gy 3
(i) ot o Y AR 22 A ey wuE weat W IeE uu Feea wr #

() St g o wwe faed i W R s

(i) R HY Y THUE TR TS o Soe ¢

Give reason for the following :

(1) Dust can be removed from a hanging carpet by shaking it or by beating
it with a stick.

(ii} An athlete is made to fall on sand bed while performing in a high jump
atheletic event.

(i) A rubber ball rebounds when struck against a hard floor.

5 kg oA ¥ fife ™ Y Fraw 99 2 s % o € SR 39 M 3 ms ¥ FEE 3
7 ms™1 3 & | T 37 9REW FE F00) 47 9@ TE T@ 5 s % A W @
=y & faz %1 safan & e e ?

A constant force acts on an object of mass 5 kg for a duration of 2 5. It increases
the object’s velocity from 3 ms ™ to 7 ms !, Find the magnitude of force. Now if

the force was applied for a duration of 5 s, what will be the final velocity of the
object? 2¢ mlgsv L, =3 N

ferelt e % zeamm ot ur ¥ fadtes #ifm) e wifayaaga A ga WA o 3
w THE U FRE vHR oftafia g 2 seen S S |ied S|

Distinguish between mass and weight of an object. How does weight of an
object change on moving from equator to poles ? Give reason for your answer.

Feater TR F oR Bl T R e 6 s H Gma A F TE 19T I Wl €1 99 3
HIfAT -

(a) fom 3m 9 30 SR F SR B T o

by o sifisram Sar W = TEEd B

() 4s% =m THHI el

A ball thrown vertically up returns to the thrower after 6 s. Find :

(a)  the velocity with which it was thrown up.

(b}  the maximum height it reaches.

(¢}  its position after 4 5.

2 SeTE 3§ s wueiEw Al W aneed | W fafa § wael = e 6 5
%1 v oik 3o o fafed | a8 fofim wadisr § e v = 8 2

Explain giving two examples the method of intercropping. State the criteria for
choosing the crops in this method and its advantage. How is it different from
Page 5 0f 12




22,

mixed cropping,

(@)
(b)

a)
(b)

(a)

(b)

(@)

(b)

(a)
(b)

(a)
(b)

(a)

3T¥ET / OR
3= snfde Hee arelt & wEt wofhdl ¥ AW fafg
memmmm%mm%maﬁm IEIETY] i HWEHA
@Wﬁfﬁ?mﬁq%ﬁaﬁ?ﬂwﬁmwwﬁm’ﬂ‘m% ? 3§
&l o a1 gl g fafad

Write names of two fish of high economic value.

Explain how composite fish farming is done. Mention giving examples
the criterion for selection of species. State the problem faced in this
method.

m.ﬁﬁ?ﬁﬁ%qmﬁﬁﬂ“ﬁ%aﬂmﬂﬁﬁﬁw: 5

fal =R T

g - i

=S

Frefafen sl w1 s wed 99 g T & T AR

() a3 bWEFET B wmf)

(ii) 'a'aﬁt*b'ﬂ'ﬁnﬁaﬁﬁm%mamfﬁﬁwr

(i) WERA ‘@ @R b & wer few wiEw F s amfee s S
a&m 2

Distinguish between solid, liquid and gas on the basis of following

properties :

Compressibility , fluidity

s (a) Vaparisation

I.[{;j Solidification Wﬁt}er : (b) st{egfn

Study the following transformations and answer the questions given

below

(1) Identify the process a, b,

(ii) Name the factor responsible to bring about the change during ‘a’
and ‘b’

(ifi) ~ Between process a and b which process will result in increase in
intermolecular force of attraction.

HYEETT £ OR

AU SR A § w2t e fafEd
wﬁaaﬁ%ﬂaﬁ%ﬁh%aﬁﬁﬁmﬁhw
ﬁﬁmmwaﬁaaﬁﬁamnmﬁﬁm%?

Differentiate between boiling and evaporation. Give any two points of
difference.

List any three factors that affect rate of evaporation of a liquid and also
mention how they affect it.

mﬁﬁﬁaaq,maﬂrﬁwﬁﬁmé?wwwﬁﬂaaﬁﬁq— 5
(i) = B GRS
(iiy wAEE
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23.

) i s fagor § S & R e ST

(a) Distinguish between true solution, colloid and suspension on the basis
of : :
(1) particle size
(i) compositon

{b) Write two differences between mixture and compounds.

eEr S OR

SrereR § Sefs FrEE 1 ARG et STE aet i Wimen 1 wed 7 e
it |

Draw the labelled flow diagram for the purification of water in water works and
label it. Explain in brief the process.

(@) weEHE A @ feem e fie & an-wm W} fefi-aae § e w5
HefteRTv] T i |

(b) 100 m % @ ¥ Y 9y W F g goE-E | Hfaq-T@ 9% =1 gl
fedl Pt e H ag T AT €1 @ Hifs
@) et Ed iy forsar B SRET™

(c) T g fg ¥ S i of free e € see A faied | Eagte]
F1E T wiEdy B ¥ FRo 58 @it i Fe s € ?

(a) Derive position time relationship with the help of velocity-time graph of
a uniformly moving body.

(b) In 100m race on straight track, an athlete completes the race from
starting line up to finishing line in a particular time. calculate :
] distance travelled
{(ii)  magnitude of displacement :

(c) Name the physical quantity which remain constant in uniform circular
motion. Change in which factor makes it an accelerated motion.

#Hgar / OR

()  UHEEH el SR e H SRR e wi |

(i) T @ W SR =6 0.1 m/st & wEEEE e § 2 e e e
wLdl §1 9 g -
(a) ¥R B WM =¥
) & oo H e gl

(i) S ¥ SASHEET gR AN 9 T s i = 9w fatad

{i) Distinguish between uniform and non-uniform acceleration.

(ii) A bus starting from rest moves with a uniform acceleration of 0.1 m/s’
for two minutes. Find :
(a) the speed acquired
(b) the distance travelled in given period of time

{iii) What does the odometer of an automobile measure ?
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(a) T TR o O e g fie wowdn gw # R wRE EA g 7 wwE 5
FH F F TH IIE A |

(b) lkgeEEH FFE e Fd @ @ T 0ms 1 F A A TEM TN 5 kg &
e @l & 2% § THua T faue s @ ol 9T et we v d vfa
€1 ¥z ¥ e 3R Uug ¥ W TO 99T 99 S 2 vl % gheE =
a7 4 TR HIA |

(a) Mention the direction of force of friction that acts on a body moving on a
surface. Write one method to reduce friction.

(b) An object of mass 1kg travelling in a straight line with a velocity of
10 ms~1 collides with and sticks to a stationary wooden block of mass
2 kg. Then they both move off together in the same straight line.
Calculate the total momentum before the impact and just after the
impact. Also calculate the velocity of combined object.

HEFT # OR

(a)  wET-wHvery Fram fafan

(b)  TomE file & Ham =1 v =l &1 sifees ot & 9 fofa

() 100 kg % fordlt 5 #7377 65 § THAA @0 ¥ 5ms~! A 9P 8 ms—?
B = 1 g T % niews oft afen 93w 3 #ife e o se= |
a1 6 a7 & FeH & foe AR aw vfise Hifm

(a) State the law of conservation of momentum.

(b) Mention two physical quantities which determine the momentum of a
body.

(c) An object of mass 100 kg is accelerated uniformly from a velocity of

5ms™ ! to 8 ms ™ in6's. Calculate the initial and final momentum of the
object and acceleration produced in it. Also find the force that acts on
the object to increase its velocity.

WTT-8 / SECTION - B

fﬂﬁ?@ﬁﬁéﬁaﬁﬁhaﬁw@ﬁrwmm%mmangaﬁ@% 1
et st & A o 0 9 Tt sufify g e daw b

(@) TEE (@) e (@ (d) e

When a few drops of dil. HCl are added to test the presence of metanil yellow in

a sample, the colour which indicate its presence is :

(a) pink (b} yellow (c) orange (d) red
14 T2 o fere ¥ e el w9 frers w i et dem A wm . 1
(a) i (b) tem (c) e (d) en-=men

When Iodine is added to the starch solution, the colour of the solution change
fo:

(a) black (b) blue (c) pink (d) blue-black

STl 1 FeiE e fo v gien g se o e w46 1
(a) SwIfeal | emiriey 22 wem &4

(b) =Ufear Fyiw = wgm F)

() =wfsdl Fag7iT =) =2mt #)

(d) TfeHT wniiet | fus gedt & Forad a9 =) | e Tmvs =8 2

Page Bof12




ﬁ

While determining the boiling point of water, we should always use distilled
water because :
(a) impurities may break the thermometer.
.(b) impurities increase the boiling point of water.
(c) impurities decrease the boiling point of water.
(d) impurities may stick to the thermometer making it difficult to read the
temperature.

28, e T RS W A F T S o Rt wRs F e A @ A W ¥ 1
o
(a) Tl % TTEl i ekl S W |
(b) et & T B FI I H G TF |
() Hfafem S = SFERi 1 % foe
(d) R w1 g ¥ weE &
While determining the boiling point of water, a few porcelain pieces are placed
at the bottom of flask to :
(a) avoid bumping of water
(b) increase the rate of heating of water

() absorb the extra heat
(d) save the flask from cracking

2, g % &R FE F M § A fare ST @ g A /€ 1
(@) T W EFE (b)) WEFR
(€ FI (d) WU TT=H
In a mixture of sand, salt and camphor, the non-sublimate substances is/are :
(a) saltand camphor (b) sand and camphor
(c) camphor (d) sand and salt

30. Bl @ F 3 R W T 3 A ae H 64 o R 1
(a) T H TR (b) TeEEm 9E

(c) R Hethe i fHem | (d) O H 3 wE

Which of the following settle down when kept undisturbed for sometime ?
(a) blood in water (b) muddy water

(c) copper sulphate soluion  (d) Egg albumin in water

31. ﬁgqﬁsﬂtwmﬁﬁwﬁwﬁm—wmmﬁl 75 FRawey 1
¥ = F e A | T FEA T 7
(a) eyl g %t iR aida da
(b) T FeSaH Sl ¥
(c) e USEX Y19 TE W € |
(d) el ol T guE B S )
Magnet is repeatedly moved closely over a mixture of iron powder and sulphur
powder. Which of the following statements is false with reference to this
activity 7
(a) Iron filings is attracted by magnet
(b) Black FeSis formed
(c) Sulphur powder is left behind
(d) Iron filings and sulphur get separated
Page 9 of 12




FHER % 5 7 HCl e @ o o s gt & s 1
(a) el o § et ¥

(b) 9 = B e #

(€ T iei =i & )

(d) et o T uig wf | st )

On adding dil. HCI to Zn granules a gas is produced which :
(a) burns with a blue flame

(b)  burns with a ‘pop’ sound

(c)  smells like rotten eggs

(d) burns with the flame and with pop sound

i Ju1 21 e g & fiamm 1
(a) =i ¥ (by Tomit &

() dren sz =wn & (d) e, sren SR fawmidt ¥

Mixtures of iron filings and sulphur powder is :

(a} homogeneous (b) heterogeneous

{c) yellow and black incolour (d) yellow and black and heterogeneous
ity o 1 9 ¥ s vad T 1

(a) WHiftrm smEmE IR (b) Wl H s

() THRuEH T merimdl  (d) SwRE T

White flakes obtained on burning magnesium ribbon in air are :
(a)  of magnesium oxide (b}  basicin nature

(c) soft and scluble in water (d) all of the above

35, STl Y I FHE WS W e fer e ¥ o verd w femds w1t ot 1
R T ?
(a) e w1 e | =9n & fom
(b) werE =t THEAl WM % fon
(c) v=rd =i gvam wgM F fag
(d) were =i fog= & 5= ¥ fou
Why is glycerine put on the material for making temporary mount before
putting the cover slip on the slide ?
{a) Toavoid drying of the material
(b)  To increase clarity of the material

{c) Toincrease visibility of the material
'(d) To avoid folding of the material

36. o i fieeh w1 sryE e R S S G S e e - 1

(2) HHFA (b) ImER
(¢) Befifem =g (d) Hefifer de
The stain used to prepare temporary mount of an onion peel is :
(a) safranin (b) iodine
{c) methylene blue {(d) methylene yellow
Page 10 of 12
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o #t et =t Sifv 2w & fou 2n =% iSn = § O 1
(a) FfereRTe et W (b) i S g
() =% gufew WA & o) (@) =t s e v g v fore

To observe the cells of onion peel, we stain them to :

(a) make the cells turgid (b) nourish the cells

{c} to preserve them {(d) highlight all the organell

U T VW S fe el fufa # weite wfvem ee R 1
(a) Ht=mEm (b) HieThEHl

(¢) EREiT=REAT (d) “IEeEH

A permanent plant tissue consisting of thin walled living cell is :

(a) parenchyma (b} collenchyma

(c) sclerenchyma (d) Xylem

Teweyl B UE TS WA@Y W I e iR wed i1 % ofgi foad S € w1
Tgd 9 F= fewd 29 ¥ 7w wime @ awd €

(a) = v % (b) ¥fEd el =

(c) EheATHET & (d) weireE Wil =l

A slide under microscope shows alternate light and dark bands and many
nuclei. It may be a slide of :

(a) nervecell (b) striated musde
(¢} sclerenchyma (d) phloem fibres .

forafaeil & SR sraifoe oi@ St Biaem 9 9 w0 & fo v e o n gen g 1
% £
Wo—Wy

Wy
WEH W, E:
@ Wifendismsrzagm | (b) fwuleel oo sEviiE o @ # 5eEEE )
€ U= frofmwiswasTm (d) i et = geme
The formula used to calculate the percentage of water absorbed by raisins is
m X 100

1

W, in the formula is :
(a) mass of water in petridish  (b) mass of water absorbed by raisins
(c) mass of dry raisins (d) mass of soaked raisins

fdl s EF 1 wied ¥ fow ol 1 een 99 o e 9R H ey 1
o 1 % g o B 3 ek & 9 HAN: 200 gwt, 50 g wt HR300 g wt T@
U AATH el F: Fy, By, Fy AT 1 SR 39 WA S A1 SR SR S 9w

(a) F,>F,>F; (b) F;>F, >F,

g F,=TF,=F (d) F,>F,>F,

»x 100
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Te find relation between minimum force required to just move a rect ngular
block and its weight, a student performed the experiment by successively
placing 200 gwt, S0gwt and 300gwt on it and measured minimum force to be Fy,
Fo Fy respectively. He repeated the experiment four times and found that:

(a) F,>F,>F by Fy>F >F,

@ F=FK=F (dy F,>F =l

ﬁﬁ@#ﬁ@hﬁﬁmvﬁmmﬁmﬁéﬁﬁmwﬁwm o fea & femd 1
T ¥ | T HEEHIF ©

Fﬁ b
E 1100
E 200
E—{300
F 400
I
{a) 10gwt oy 20gwt (cy 30gwt (d) 40 g wt

The least count of spriry balance used for raeasuring minumum force to just
move a block is

é?__"_t"-: . .
3
S N
3 100
——{ 200
360
400
(a) 10gwt (by 20gwt © 30gwt (d) 40gwt
-00o0-
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